H FURUNG

PACKING LIST FOR FS1570

Box 1 - FS1570T

Part No.
FS1570T
OME-563-60Z
IME-563-60Z
OSE-563-60Z
E52-001-01A
E52-001-02A
000-119-318
000-802-085
000-166-977
10 000-801-974

© oo ~NO UL~ WNPE

Box 2 - AT1560/25

Part No.
AT1560/25
000-572-187
100-164-380
000-130-472
000-805-494

g b~ wWN P

Box 3 - FS2571CONT

Part No.
FS2571C

1

2

3

4 000-864-937
5 000-802-080
6 000-802-080
7 000-864-937
8 005-951-790
9 000-056-948
10 000-146-015

Box 4 - FS2570CBLS
Part No.

1 000-130-484

2 000-113-360

Wit: 38 Ibs. Dim: 27"x 19"x 10"

Description Quantity
150W Transceiver Chassis 1

Operator's Manual

Installation Manual

Operator's Guide

Action Card VHF/MF/DSC Distress
Action Card HF DSC Distress

DB25 Connector "2 Packages"

Tapping Screw 6 x 30

FM-MP-7Coax Conn "M" (or 000-108-859
Nylon Transparent Washer M6

ONORRPRRERER

Wt: 12 Ibs. Dim: 16"x 22"x 8"

Description Quantity
Auto Coupler for 250W SSB 1
Copper Ground Strap 1
Blind Plug Adhesive 1
Rubber Sleeve 1
Tapping Screw M5 x 16 4

Wt: 11 Ibs. Dim: 15"x 11"x 9"

Description Quantity
Control Unit 1

Mounting Bracket

Mounting Knob

Flat Washer M4

Tapping Screw M4 x 16
Tapping Screw M4 x 16

Flat Washer M4

Handset Bracket

Handset with Cable & Plug
Cable Assembly 0559336 5M

P RPFEPNNBAEBADNPRE

Wt: 7 Ibs. Dim: 18"x 11"x 8"

Description Quantity
Cable Assembly 0550949 10M 1
Cable Assembly 0550462 10M 1

Page 1 of 2

For Internal Use Only

Serial No. 3536 -

Checked By:
Tech
Date
FS1570T
Yes Remarks
sub CP05-08802
AT1560/25
Yes Remarks
sub 000-055-238
FS2571CONT
Yes Remarks

sub 000-056-947

10, 20, 30, 40, 50M Avail.

FS2570CBLS

Yes

Remarks

20, 30, 40, 50M Available




H FURUNG

PACKING LIST FOR FS1570 with NBDP

Box 1 - NBDP Option

Part No.
IB583
004-439-230
004-439-650
000-138-599
004-439-400
000-146-610
000-146-652
000-108-138
000-802-081
100-248-060
100-248-051
100-237-680
100-237-670
005-951-820

© 0O ~NOULDA WNPEP

el
= o

B e
A wWwN

rev 11-23-10

OPTION

Wt: 16 Ibs. Dim: 16"x 9"x 21"

Description
Color LCD Terminal Monitor

Mounting Bracket

Mounting Knob

BTC5100C PS/2 Mini Keyboard
Software Floppy Disk

Power Cable Assy 5M
DB9>DB9 Cable Assy 5M
Grounding Wire

Tapping Screw M5x20
"Compass Safe" Label
Keyboard Label

"Hook Loop" Fastener (Large)
"Hook Loop" Fastener (Small)
DSC PCB 05P0751

Page 2 of 2

Quantity
1

PRARMNRPRRPDMNRRRPRRERNER

For Internal Use Only

Serial No.

Checked By:
Tech
Date
NBDP Option
Yes Remarks
attached
attached

sub CP05 8901

Install In FS1570T




